CCSS Algebra 3 Translating Exponents to Logarithms

Remember that logarithms are just an invention for solving equations where the exponents are variables. Just like
roots are the inverses of powers (squares, cubes, fourth powers), logarithms are the inverses of exponents.

Power Root Exponent Logarithm
X5 =32 X=3T=2 7= 343 Xx=log,343 =3
1. Convert each exponential equation into a logarithmic equation and use a calculator to solve for x:
a. 3=40 b. 125 =1728 c. 4£+5=40
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2. Convert each logarithmic’equation into an exponential equation and use a calculator to solve for x:
a. logg(x)=2 b. logi(x+5)=4 c. log,(x)+3=2
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3. Find the inverse of each function below: /
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